

A new characterization of hyperbolic cylinder in anti-de Sitter space $H_1^{n+1}(-1)$

Linfen Cao, Guoxin Wei *

Department of Mathematical Sciences, Tsinghua University, 100084 Beijing, People's Republic of China

Received 14 December 2005

Available online 28 July 2006

Submitted by R. Gornet

Abstract

By investigating n -dimensional complete maximal spacelike hypersurfaces with two distinct principal curvatures in an $(n + 1)$ -dimensional anti-de Sitter space $H_1^{n+1}(-1)$, we give a new characterization of hyperbolic cylinder $H^m(-\frac{n}{m}) \times H^{n-m}(-\frac{n}{n-m})$ in $H_1^{n+1}(-1)$.

© 2006 Elsevier Inc. All rights reserved.

Keywords: Hyperbolic cylinder; Maximal spacelike hypersurface; Anti-de Sitter space

1. Introduction

Let $M_1^{n+1}(c)$ be an $(n + 1)$ -dimensional Lorentzian manifold of constant curvature c , we also call it a *Lorentzian space form*. When $c > 0$, $M_1^{n+1}(c) = S_1^{n+1}(c)$ (i.e., $(n + 1)$ -dimensional de Sitter space); when $c = 0$, $M_1^{n+1}(c) = L^{n+1}$ (i.e., $(n + 1)$ -dimensional Lorentz–Minkowski space); when $c < 0$, $M_1^{n+1}(c) = H_1^{n+1}(c)$ (i.e., $(n + 1)$ -dimensional anti-de Sitter space). A hypersurface M of $M_1^{n+1}(c)$ is said to be spacelike if the induced metric on M from that of the ambient space is positive definite.

E. Calabi [1] first studied the Bernstein problem for a maximal spacelike entire graph in L^{n+1} and proved that it has to be hyperplane, when $n \leq 4$. S.Y. Cheng and S.T. Yau [2] proved that the conclusion remains true for all n . As a generalization of the Bernstein type problem, Cheng

* Corresponding author.

E-mail addresses: caolf04@mails.tsinghua.edu.cn (L. Cao), weigx03@mails.tsinghua.edu.cn (G. Wei).

and Yau [2] and T. Ishihara [3] proved that a complete maximal spacelike submanifold M of $M_1^{n+1}(c)$ ($c \geq 0$) is totally geodesic. T. Ishihara [3] also proved the following well-known result:

Theorem 1.1. [3] *Let M be an n -dimensional ($n \geq 2$) complete maximal spacelike hypersurface in anti-de Sitter space $H_1^{n+1}(-1)$, then the norm square of the second fundamental form of M satisfies*

$$S \leq n, \quad (1.1)$$

and $S = n$ if and only if $M^n = H^m(-\frac{n}{m}) \times H^{n-m}(-\frac{n}{n-m})$ ($1 \leq m \leq n-1$).

In this paper, we prove the following result, which gives a new characterization of hyperbolic cylinder in anti-de Sitter space $H_1^{n+1}(-1)$.

Theorem 1.2. *Let M be an n -dimensional ($n \geq 3$) complete maximal spacelike hypersurface with two distinct principal curvatures λ and μ in anti-de Sitter space $H_1^{n+1}(-1)$. If $\inf(\lambda - \mu)^2 > 0$, then $M = H^m(-\frac{n}{m}) \times H^{n-m}(-\frac{n}{n-m})$ ($1 \leq m \leq n-1$).*

2. Preliminaries

Let M be an n -dimensional complete spacelike hypersurface of anti-de Sitter space $H_1^{n+1}(-1)$. For any $p \in M$, we choose a local orthonormal frame e_1, \dots, e_n, e_{n+1} in $H_1^{n+1}(-1)$ around p such that e_1, \dots, e_n are tangent to M . Take the corresponding dual coframe $\omega_1, \dots, \omega_n, \omega_{n+1}$ with the matrix of connection one forms being ω_{ij} . The metric of $H_1^{n+1}(-1)$ is given by $\overline{ds^2} = \sum_i \omega_i^2 - \omega_{n+1}^2$. We make the convention on the range of indices that $1 \leq i, j, k \leq n$.

A well-known argument [2] shows that the forms ω_{in+1} may be expressed as $\omega_{in+1} = \sum_j h_{ij} \omega_j$, $h_{ij} = h_{ji}$. The second fundamental form is $B = \sum_{i,j} h_{ij} \omega_i \otimes \omega_j$. The mean curvature of M is given by $H = \frac{1}{n} \sum_i h_{ii}$. If $H = 0$, then M is said to be *maximal*. The Gauss equations are

$$R_{ijkl} = -(\delta_{ik} \delta_{jl} - \delta_{il} \delta_{jk}) - (h_{ik} h_{jl} - h_{il} h_{jk}), \quad (2.1)$$

$$R_{ij} = -(n-1) \delta_{ij} - n H h_{ij} + \sum_k h_{ik} h_{kj}, \quad (2.2)$$

$$n(n-1)(R+1) = -n^2 H^2 + S, \quad (2.3)$$

where R is the normalized scalar curvature of M and the norm square of the second fundamental form is

$$S = \sum_{i,j} (h_{ij})^2. \quad (2.4)$$

The Codazzi equations are

$$h_{ijk} = h_{ikj}, \quad (2.5)$$

where the covariant derivative of h_{ij} is defined by

$$\sum_k h_{ijk} \omega_k = dh_{ij} + \sum_k h_{kj} \omega_{ki} + \sum_k h_{ik} \omega_{kj}. \quad (2.6)$$

The second covariant derivative of h_{ij} is defined by

$$\sum_l h_{ijkl} \omega_l = dh_{ijk} + \sum_l h_{ljk} \omega_{li} + \sum_l h_{ilk} \omega_{lj} + \sum_l h_{ijl} \omega_{lk}. \quad (2.7)$$

By exterior differentiation of (2.6), we have the following Ricci identities:

$$h_{ijkl} - h_{ijlk} = \sum_m h_{mj} R_{mikl} + \sum_m h_{im} R_{mjkl}. \quad (2.8)$$

We may choose a frame field $\{e_1, \dots, e_{n+1}\}$ such that

$$\omega_{in+1} = \lambda_i \omega_i, \quad \text{that is} \quad h_{ij} = \lambda_i \delta_{ij}, \quad i = 1, 2, \dots, n, \quad (2.9)$$

where λ_i are principal curvatures. If we assume that M is a maximal spacelike hypersurface with two distinct principal curvatures, then we may put

$$\lambda_1 = \lambda_2 = \dots = \lambda_m = \lambda, \quad \lambda_{m+1} = \dots = \lambda_n = \mu, \quad \lambda \neq \mu,$$

and we obtain

$$m\lambda + (n-m)\mu = 0. \quad (2.10)$$

Example. Hyperbolic cylinder:

$$M_{m,n-m} = H^m \left(-\frac{n}{m} \right) \times H^{n-m} \left(-\frac{n}{n-m} \right) \quad (1 \leq m \leq n-1).$$

We know (see [3]) that $M_{m,n-m}$ is a complete maximal spacelike hypersurface in $H_1^{n+1}(-1)$ with two distinct principal curvatures λ and μ , where

$$\lambda_1 = \dots = \lambda_m = \lambda = \sqrt{\frac{n-m}{m}}, \quad \lambda_{m+1} = \dots = \lambda_n = \mu = -\sqrt{\frac{m}{n-m}}.$$

By direct computation, we get that the square norm of the second fundamental form of $M_{m,n-m}$ satisfy $S = n$.

Now we have to consider two cases.

Case 1. $2 \leq m \leq n-2$. In this case, we make the convention on range of indices that

$$1 \leq a, b, c \leq m, \quad m+1 \leq \alpha, \beta, \gamma \leq n, \quad 1 \leq i, j, k \leq n.$$

Proposition 2.1. *Let M be an n -dimensional maximal spacelike hypersurface with two distinct principal curvature in anti-de Sitter $H_1^{n+1}(-1)$. If the multiplicities of these two distinct principal curvatures are greater than 1, then $h_{ijk} = 0$ and $M = H^m(-\frac{n}{m}) \times H^{n-m}(-\frac{n}{n-m})$ ($2 \leq m \leq n-2$).*

Proof. Choosing $i = a, j = b$ in (2.6) and noting $h_{ab} = \lambda_a \delta_{ab}, \lambda_a = \lambda_b$, we have

$$\sum_{k=1}^n h_{abk} \omega_k = dh_{ab} = d\lambda_a \cdot \delta_{ab}. \quad (2.11)$$

Because $m \geq 2$, we can choose $a \neq b$, then $h_{abk} = 0$, in particular we obtain

$$h_{aba} = 0, \quad 1 \leq a \neq b \leq m. \quad (2.12)$$

Choosing $a = b$ in (2.11), we get $\sum_{k=1}^n h_{aak} \omega_k = d\lambda = \sum_k \lambda_{,k} \omega_k$, then it follows that

$$h_{aac} = \lambda_{,c}, \quad 1 \leq a, c \leq m. \quad (2.13)$$

From (2.5), we have $h_{aab} = h_{aba}$, then (2.12) and (2.13) imply

$$\lambda_{,b} = 0, \quad 1 \leq b \leq m. \quad (2.14)$$

Since $n - m \geq 2$, we also can get that

$$\mu_{,\alpha} = 0, \quad m + 1 \leq \alpha \leq n. \quad (2.15)$$

Combining (2.10), (2.14) with (2.15), we see that $\lambda = \text{constant}$ and $\mu = \text{constant}$, also $h_{ijk} = 0$. From Ishihara's works [3], we conclude $M = H^m(-\frac{n}{m}) \times H^{n-m}(-\frac{n}{n-m})$ ($2 \leq m \leq n - 2$). We complete the proof of Proposition 2.1. \square

Case 2. $m = n - 1$.

From (2.10), we assume that

$$\lambda_1 = \cdots = \lambda_{n-1} = \lambda, \quad \lambda_n = \mu,$$

then it follows that

$$\lambda - \mu = n\lambda, \quad \lambda\mu = -(n-1)\lambda^2. \quad (2.16)$$

Because $n \geq 3$, we have $m = n - 1 \geq 2$. By similar discussion as Case 1, we obtain

$$\lambda_{,1} = \cdots = \lambda_{,n-1} = 0. \quad (2.17)$$

Combining (2.16) with (2.17), we get

$$\mu_{,1} = \cdots = \mu_{,n-1} = 0. \quad (2.18)$$

Noting $h_{ij} = \lambda_i \delta_{ij}$ and (2.6), we have

$$\sum_k h_{ijk} \omega_k = \delta_{ij} d\lambda_i + (\lambda_i - \lambda_j) \omega_{ij}. \quad (2.19)$$

From (2.19), (2.17) and (2.18), we obtain

$$h_{ijk} = 0, \quad \text{if } i \neq j, \lambda_i = \lambda_j, \quad (2.20)$$

$$h_{aab} = 0, \quad h_{aan} = \lambda_{,n}, \quad (2.21)$$

$$h_{nna} = 0, \quad h_{nnn} = \mu_{,n}. \quad (2.22)$$

We introduce the following generalized maximum principle (see Omori [5] and Yau [10]) in order to prove our Theorem 1.2.

Lemma 2.1. (Omori [5], Yau [10]) *Let M be a complete Riemannian manifold with Ricci curvature bounded from below. Let f be a C^2 function which bounded from below on M . Then there is a sequence of points p_k in M such that*

$$\lim_{k \rightarrow \infty} f(p_k) = \inf(f), \quad \lim_{k \rightarrow \infty} |\nabla f(p_k)| = 0, \quad \lim_{k \rightarrow \infty} \inf \Delta f(p_k) \geq 0.$$

3. Proof of Theorem 1.2

At first, we prove the following key lemma.

Lemma 3.1. *Let M be an n -dimensional ($n \geq 3$) maximal spacelike hypersurface with two distinct principal curvatures in $H_1^{n+1}(-1)$, then we have*

$$|\nabla S|^2 = \sum_{k=1}^n (S_{,k})^2 = \frac{4nS}{n+2} \sum_{i,j,k} h_{ijk}^2. \quad (3.1)$$

Proof. We have to consider two cases.

Case 1. $m \geq 2$, $n - m \geq 2$, that is, the multiplicity of two distinct principal curvature are great than 1. From Proposition 2.1, we know that $\lambda = \text{constant}$, $\mu = \text{constant}$ and $h_{ijk} = 0$. Thus $S = \text{constant}$ and $h_{ijk} = 0$, (3.1) holds in this case.

Case 2. $m = n - 1$, that is, $\lambda_1 = \cdots = \lambda_{n-1} = \lambda$, $\lambda_n = \mu$, then we have

$$S = n(n-1)\lambda^2, \quad (3.2)$$

$$S_{,i} = 2n(n-1)\lambda\lambda_{,i}. \quad (3.3)$$

By use of (2.14), (3.2) and (3.3), we obtain

$$\sum_{k=1}^n (S_{,k})^2 = (S_{,n})^2 = 4n(n-1)S(\lambda_{,n})^2. \quad (3.4)$$

On the other hand, by use of (2.20)–(2.22), we know

$$\begin{aligned} \sum_{i,j,k} h_{ijk}^2 &= \sum_{a,b,c=1}^{n-1} h_{abc}^2 + 3 \sum_{a,b=1}^{n-1} h_{abn}^2 + 3 \sum_{a=1}^{n-1} h_{ann}^2 + h_{nnn}^2 \\ &= 3 \sum_{a=1}^{n-1} h_{naa}^2 + h_{nnn}^2 = 3(n-1)(\lambda_{,n})^2 + (\mu_{,n})^2 \\ &= (n-1)(n+2)(\lambda_{,n})^2. \end{aligned} \quad (3.5)$$

Combining (3.4) with (3.5), we complete the proof of Lemma 3.1. \square

Lemma 3.2. *Let M be an n -dimensional ($n \geq 3$) complete maximal hypersurface of anti-de Sitter space $H_1^{n+1}(-1)$ with two distinct principal curvatures one of which is simple (i.e., $\lambda_1 = \cdots = \lambda_{n-1} = \lambda \neq \lambda_n = \mu$). If $\inf(\lambda - \mu)^2 > 0$, then*

$$S \geq n, \quad (3.6)$$

where S is the norm square of the second fundamental form of M .

Proof. Making use of the (2.8), (2.5), (2.4), we can compute the Laplacian ΔS of S as follows (also see [3,4]):

$$\frac{1}{2} \Delta S = \sum_{i,j,k} h_{ijk}^2 + \sum_{i,j,k} h_{ij} h_{ijkk}$$

$$\begin{aligned}
&= \sum_{i,j,k} h_{ijk}^2 + \sum_{i,j,k} h_{ij} h_{ikj} \\
&= \sum_{i,j,k} h_{ijk}^2 + \sum_{i,j,k} h_{ij} \left(h_{ikkj} + \sum_m h_{km} R_{mijk} + \sum_m h_{mj} R_{mkjk} \right) \\
&= \sum_{i,j,k} h_{ijk}^2 + \frac{1}{2} \sum_{i,j} R_{ijij} (\lambda_i - \lambda_j)^2.
\end{aligned} \tag{3.7}$$

By use of Gauss equation (2.1), we obtain $R_{anan} = -1 - \lambda\mu = -1 + (n-1)\lambda^2$ for $1 \leq a \leq n-1$. Then we have by use of (3.2)

$$\begin{aligned}
\frac{1}{2} \Delta S &= \sum_{i,j,k} h_{ijk}^2 + (n-1)(\lambda - \mu)^2 [(n-1)\lambda^2 - 1] \\
&= \sum_{i,j,k} h_{ijk}^2 + (n-1)n^2\lambda^2 [(n-1)\lambda^2 - 1] \\
&= \sum_{i,j,k} h_{ijk}^2 + S(S-n).
\end{aligned} \tag{3.8}$$

Since we assume $\inf(\lambda - \mu)^2 = b^2 > 0$, from $(n-1)\lambda + \mu = 0$ and (3.2), we have

$$S \geq \frac{n-1}{n} b^2 > 0. \tag{3.9}$$

Combining (3.9), Lemma 3.1 with (3.8) we have

$$\frac{1}{2} \Delta S = \frac{n+2}{4nS} |\nabla S|^2 + S(S-n). \tag{3.10}$$

Noting $R_{ii} = -(n-1) + \lambda_i^2 \geq -(n-1)$ and $S \geq \frac{n-1}{n} b^2 > 0$, we know that Omori and Yau's generalized maximum principle (Lemma 2.1) can be applied to the function S on M . Then there is a sequence of points p_k in M such that

$$\lim_{k \rightarrow \infty} S(p_k) = \inf S, \quad \lim_{k \rightarrow \infty} |\nabla S(p_k)| = 0, \quad \lim_{k \rightarrow \infty} \inf \Delta S(p_k) \geq 0.$$

Approaching limit of the both side of equality (3.10), we obtain

$$0 \leq \inf S \cdot (\inf S - n). \tag{3.11}$$

From (3.9) we have $\inf S > 0$, then we obtain

$$\inf S \geq n. \tag{3.12}$$

We complete the proof of Lemma 3.2. \square

Proof of Theorem 1.2. We assume that M has two distinct principal curvature λ (multiplicity m) and μ (multiplicity $n-m$).

Case 1. $2 \leq m \leq n-2$. By Proposition 2.1 we know $M = H^m(-\frac{n}{m}) \times H^{n-m}(-\frac{n}{n-m})$, $2 \leq m \leq n-2$.

Case 2. $m = n-1$. From Theorem 1.1 of T. Ishihara [3], we know that $S \leq n$. From Lemma 3.2, we get $S \geq n$. Hence, $S = n$ on M . Since $S = n(n-1)\lambda^2$, we have $\lambda^2 = \frac{1}{n-1}$, $\mu^2 = n-1$. Then M is isometric to $H^1(-n) \times H^{n-1}(-\frac{n}{n-1})$. We complete the proof of Theorem 1.2. \square

Remark 3.1. In [6–9], the authors studied n -dimensional complete hypersurfaces with two distinct principal curvatures in an $(n + 1)$ -dimensional unit sphere $S^{n+1}(1)$.

Remark 3.2. The referee proposed the following:

Conjecture. *The only complete spacelike hypersurfaces in $M_1^{n+1}(c)$ ($c \leq 0$) with constant mean curvature and two distinct principal curvatures λ and μ satisfying $\inf(\lambda - \mu)^2 > 0$ are the hyperbolic cylinders.*

This conjecture is interesting, but our method in this paper is not effective to the conjecture.

Acknowledgment

The authors thank referee for his valuable remarks and useful suggestions.

References

- [1] E. Calabi, Examples of Bernstein problems for nonlinear equations, in: Proc. Sympos. Pure Math., vol. 15, 1970, pp. 223–230.
- [2] S.Y. Cheng, S.T. Yau, Maximal spacelike hypersurfaces in the Lorentz–Minkowski space, Ann. of Math. 104 (1976) 407–419.
- [3] T. Ishihara, Maximal spacelike submanifolds of a pseudo-Riemannian space form of constant curvature, Michigan Math. J. 35 (1988) 345–352.
- [4] H. Li, Global rigidity theorems of hypersurfaces, Ark. Mat. 35 (1997) 327–351.
- [5] H. Omori, Isometric immersions of Riemannian manifolds, J. Math. Soc. Japan 19 (1967) 205–214.
- [6] T. Otsuki, Minimal hypersurfaces in a Riemannian manifold of constant curvature, Amer. J. Math. 92 (1970) 145–173.
- [7] O. Perdomo, Rigidity of minimal hypersurfaces of spheres with two principal curvatures, Arch. Math. 82 (2004) 180–184.
- [8] Q. Wang, Rigidity of minimal hypersurfaces, Monatsh. Math. 140 (2003) 163–167.
- [9] G. Wei, Complete hypersurfaces with constant mean curvature in a unit sphere, Monatsh. Math. 148 (2006), doi:10.1007/s00605-005-0377-1.
- [10] S.T. Yau, Harmonic functions on complete Riemannian manifolds, Comm. Pure Appl. Math. 28 (1975) 201–228.